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INVERSE T FUNCTIONS  
 

 

1. Match the following: 

 

 A   B 

(a)   1,1,cossin 11   xxx   
4


 

(b)   






 

5

4
sinsin 1   

6

5
 

(c)     3cot 1    
2


 

(d)     



































 

221

21
tan

221

21
tan 11

 
5


 

  
3


           

2.  Find the principal value of  









2

1
cos 1

                                                                               

3.  Show that .
24sin1

cos
tan 1 x

x

x

















    

 

4. Given an expression for  yxtan                                                                                                         

5. Prove that for .
xy1

yx
tanytanxtan,1xy 111













                                                                       

6. Using the above result Prove that .
43

1
tan

2

1
tan 11 

















 
 

7. The principal value of  1cot 1 
 is …………….. 

8. Write the function 










 x
xx

xx
0,

sincos

sincos
tan 1

 in the simplest form. 

9. Prove that: 
17

31
tan

7

1
tan

2

1
tan2 111    

10. Solve the following  for x      0,
31

8
tan1tan1tan 111   xxx  

11. Find the value of 














 

2

1
sin2

2

1
cos 11

 

12. Prove that  311 43sinsin3 xxx    

13. Evaluate 

















 

2

1
sin

3
sin 1

 

14. Find the value of 















 

2

1
sin2cos2tan 11
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15. Prove that 
419

8
tan

5

3
tan

4

3
tan 111 

 
 

16. Prove that 
48

1
tan

7

1
tan

5

1
tan

3

1
tan 1111 

 
 

17. Prove that 3cot18cot8cot7cot 1111    

18. Solve 
4

3tan2tan 11 
  xx  

19. Solve 
42

1
tan

2

1
tan 11 

























 

x

x

x

x
 

20. Solve 0,tan
2

1

1

1
tan 11 











  xx
x

x
 

21. Prove that x
xx

xx

















4sincos

sincos
tan 1

 

22. Prove that 
24sin1

cos
tan 1 x

x

x
















 

23. Prove that x
b

a
tan

xsinaxcosb

xsinbxcosa
tan 11 




















   

24. Prove that 
2sin1sin1

sin1sin1
cot 1 x

xx

xx



















 

25. Prove that xcos
2

1

4x1x1

x1x1
tan 11  





















 

26. Prove that 











 

x

x
x

1

1
cos

2

1
tan 11

 

27. Prove that  21

22

22
1 xcos

2

1

4x1x1

x1x1
tan  





















  

 

IV. Write the simplest form of the following 

functions: 

 

1. 












x

x

cos1

sin
tan 1  

 

 

 

11.

 




















2

3

1

1

tan

x

xx
 

 

2. 












x

x

sin1

cos
tan 1  12. 













x

x

61

23
tan 1  
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3. 


















xx

xx

11

11
tan 1  13. 

































x

x

1

1
tan2sin 1

 

4. 


















1

1
tan

2

1

x
 14. 



















n

n

x

x

2

2
1

1

1
cos  

5. 


















2

1

11

tan

x

x
 15. 




















x

x

41

2
sin

1
1  

6. 


















x

x

1

2
sin 1  16. 
















13

1125
sin

2
1 xx

 

7. 






 

x

x

sin

cos1
cot 1  17. 








 21 1tan xx  

8. 


















22

1tan

xa

x
 18. 













 

2

11
sin 1 xx

 

9. 







 221 12sin xaax  19. 








 21 11sin xxxx  

10. 


















44

2
1sin

ax

x
 20. 



















22

22
1

11

11
tan

xx

xx
 

 

 

Answer: 

 

1.  
2

1
 2. 

24

x



 3. x1sin

2

1   4.
 

x1sec
2




  

5. x1sin
2

1   6.
 

x1tan2 

 
7. 

2

x
  

8. 








a

x1sin   9.  ax1sin2     10. 















2

2
1tan

a

x
   

11.   xx 11 tantan     12. x2tan3tan 11     13.  x1cossin      

14.  nx1tan    15.  x2tan2 1    16. x2cos
13

5
sin 11  








  

17. x1cot
2

1

2




  18. x1cos
2

1

4




  19. xx 11 sinsin     

20.  21cos
2

1

4
x


 

 


